

### GOGEBIC COUNTY FORESTRY & PARKS COMMISSION

# Comparative Bid Statement Bid Opening June 14, 2016

#### **VICTORIA**

						1		2		J		4
			MINI	MUM	GA Dalbe	ck Logging	Kew	eenaw				
SPECIES & PRODUCT	ESTIMATE	D VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
			RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE
Owner Marila Orostona	40	MDE	<b>#050</b>	<b>#0.500</b>	#050.00	#0 F00 00	#00F 00	#0.050.00				
Sugar Maple - Sawlogs	10	MBF	\$250	\$2,500	\$353.00	\$3,530.00	\$325.00	\$3,250.00				
Mixed Hardwood - Sawlogs	10	MBF	\$150	\$1,500	\$205.00	\$2,050.00	\$155.00	\$1,550.00				
Mixed Hardwood - Pulpwood	1,465	Cords	\$20	\$29,300	\$21.00	\$30,765.00	\$21.00	\$30,765.00				
Aspen - Woodsrun	30	Cords	\$20	\$600	\$21.00	\$630.00	\$22.00	\$660.00				
Mixed Softwood - Woodsrun	50	Cords	\$10	\$500	\$16.00	\$800.00	\$10.00	\$500.00				
TOTALS - SAWLOGS	20	MBF		\$4,000		\$5,580.00		\$4,800.00		\$0.00		\$0.00
TOTALS - PULPWOOD	1,545	Cords		\$30,400		\$32,195.00		\$31,925.00		\$0.00		\$0.00
TOTAL VALUE - ESTIMATED				\$34,400		\$37,775.00		\$36,725.00	·	\$0.00		\$0.00
					SUCCESS	ful bidder						

#### MUD CREEK

					IVIC	D CKLLK						
						1		2		3		4
			MINI	MUM	Keweer	naw Land						
SPECIES & PRODUCT	ESTIMATED VOLUME		UNIT BID RATE	BID VALUE	UNIT BID RATE	TOTAL BID VALUE						
Sugar Maple - Sawlogs	5	MBF	\$200	\$1,000	\$325.00	\$1,625.00						
Mixed Hardwood - Sawlogs	8	MBF	\$150	\$1,200	\$145.00	\$1,160.00						
Mixed Hardwood - Pulpwood	588	Cords	\$25	\$14,700	\$28.00	\$16,464.00						
Aspen - Woodsrun	75	Cords	\$25	\$1,875	\$28.00	\$2,100.00						
Mixed Softwood - Woodsrun	40	Cords	\$10	\$400	\$10.00	\$400.00						
TOTALS - SAWLOGS	13	MBF		\$2,200		\$1,625.00		\$0.00		\$0.00		\$0.00
TOTALS - PULPWOOD	703	Cords		\$16,975		\$20,124.00		\$0.00		\$0.00		\$0.00
TOTAL VALUE - ESTIMATED				\$19,175		\$21,749.00		\$0.00		\$0.00		\$0.00
					01100000	ful hiddor						

#### **HUNTING MOON**

					1			2		3		4		5
				MINIMUM	Kewee	naw	Mel Fla	nnery Jr.	GA Dalbe	ck Logging	JM Lo	ngyear	Sappi F	ine Paper
SPECIES & PRODUCT	ESTIMATED	VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	<b>UNIT BID</b>	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
			RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE
Sugar Maple - Sawlogs	60	MBF	\$250	\$15,000	\$370.00	\$22,200.00	\$310.00	\$18,600.00	\$418.00	\$25,080.00	\$350.00	\$21,000.00	\$295.00	\$17,700.00
Mixed Hardwood - Sawlogs	43	MBF	\$150	\$6,450	\$165.00	\$7,095.00	\$175.00	\$7,525.00	\$221.00	\$9,503.00	\$250.00	\$10,750.00	\$185.00	\$7,955.00
Missal Handward Duboused	4 000	0 1 -	<b>#</b> 00	<b>#</b> 00.000	<b>#00.00</b>	#00 040 00	<b>#</b> 00.00	#00 <b>7</b> 00 00	<b>000 75</b>	#00 400 F0	<b>#05.50</b>	#00 00F 00	Фоо оо	<b>#</b> 00 000 00
Mixed Hardwood - Pulpwood	1,030	Cords	\$20	\$20,600	\$28.00	\$28,840.00	\$26.00	\$26,780.00	\$22.75	\$23,432.50	\$25.50	\$26,265.00	\$32.00	\$32,960.00
Mixed Softwood - Woodsrun	20	Cords	\$10	\$200	\$12.00	\$240.00	\$15.00	\$300.00	\$22.75	\$455.00	\$15.00	\$300.00	\$10.00	\$200.00
TOTALS - SAWLOGS	103	MBF		\$21,450		\$29,295.00		\$26,125.00		\$34,583.00		\$31,750.00		\$25,655.00
TOTALS - PULPWOOD	1,050	Cords		\$20,800		\$29,080.00		\$27,080.00		\$23,887.50		\$26,565.00		\$33,160.00
				<b></b>										
TOTAL VALUE - ESTIMATED				\$42,250		\$58,375.00		\$53,205.00		\$58,470.50		\$58,315.00		\$58,815.00
													succes	sful bidder

#### **ALWARD CREEK**

								1		2		;	3
					MINIMU	JM		GA Dalbec	k Logging	JM Lon	gyear	Sappi Fi	ne Paper
ESTIMATED VOLUME		IME					Cord		Cord		Cord		
SPECIES & PRODUCT	LSTII	ESTIMATED VOLUME					UNIT BID	TOTAL	UNIT BID	TOTAL	UNIT BID	TOTAL BID	
				UNIT BID	RATE	BID	VALUE	RATE/Cord	BID	RATE/Cord	BID	RATE/Cord	VALUE
	4" Top		Whole Tree										
Mixed Hardwood - Pulpwood	115 Cords	or	360 Tons	\$25 Cord/\$7	7.98 /Ton	\$2,875C	/\$2,873T	\$36.63	\$4,212.45	\$26.00	\$2,990.00	\$41.50	\$4,772.50
Aspen - Woodsrun	200 Cords	or	650 Tons	\$25 Cord/\$7	7.69 /Ton	\$5,000C	/\$4,999T	\$36.61	\$7,322.00	\$26.00	\$5,200.00	\$41.50	\$8,300.00
												4	
Mixed Softwood - Woodsrun	95 Cords	or	200 Tons	\$10 Cord/\$4	4.75 /Ton	\$950C	/\$950T	\$20.23	\$1,921.85	\$15.00	\$1,425.00	\$12.00	\$1,140.00
TOTAL VALUE - ESTIMATED									\$13,456.30		\$9,615.00		\$14,212.50
												success	ful bidder

# **Comparative Bid Statement Bid Opening August 16, 2016**



#### **HAWKEYE**

						1		2
			MINI	MUM	C	orullo	S	аррі
SPECIES & PRODUCT	ESTIMATE	VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
			RATE	VALUE	RATE	VALUE	RATE	VALUE
Sugar Maple - Sawlogs	15	MBF	\$250	\$3,750	\$305.00	\$4,575.00	\$250.00	\$3,750.00
Mixed Hardwood - Sawlogs	45	MBF	\$150	\$6,750	\$190.00	\$8,550.00	\$150.00	\$6,750.00
Mixed Hardwood - Pulpwood	1,260	Cords	\$25	\$31,500	\$30.00	\$37,800.00	\$28.00	\$35,280.00
Aspen - Woodsrun	540	Cords	\$25	\$13,500	\$31.00	\$16,740.00	\$25.00	\$13,500.00
Mixed Softwood - Woodsrun	35	Cords	\$10	\$350	\$14.00	\$490.00	\$10.00	\$350.00
TOTALS - SAWLOGS	60	MBF		\$10,500		\$13,125.00		\$10,500.00
TOTALS - PULPWOOD	1,835	Cords		\$45,350		\$55,030.00		\$49,130.00
TOTAL VALUE - ESTIMATED				\$55,850		\$68,155.00		\$59,630.00
					succes	sful bidder		

#### **ROCK & ROLL**

					1		2		3		4		5
		MIN	IMUM	Kew	veenaw	С	Corullo	٤	Sappi	01	ttawa	Futu	urewood
SPECIES & PRODUCT	ESTIMATED VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
	<u> </u>	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE
					<del></del>							, T	
Sugar Maple - Sawlogs	50 MBF	\$250	\$12,500	\$270.00	\$13,500.00	\$393.00	\$19,650.00	\$375.00	\$18,750.00	\$461.51	\$23,075.50	\$310.00	\$15,500.00
					1 .	<u> </u>	<u> </u>	<u> </u>				<u> </u>	<u> </u>
Mixed Hardwood - Sawlogs	30 MBF	\$150	\$4,500	\$150.00	\$4,500.00	\$212.00	\$6,360.00	\$200.00	\$6,000.00	\$218.57	\$6,557.10	\$160.00	\$4,800.00
	4		1		1	1 . '	1	1 . '				<u> </u>	1 . ['
Mixed Hardwood - Pulpwood	900 Cords	\$25	\$22,500	\$25.00	\$22,500.00	\$33.00	\$29,700.00	\$38.00	\$34,200.00	\$34.87	\$31,383.00	\$34.50	\$31,050.00
	4	/ /	/ · · · · · /		1	1 '	1	1					1 1'
Mixed Softwood - Woodsrun	10 Cords	\$10	\$100	\$10.00	\$100.00	\$14.00	\$140.00	\$12.00	\$120.00	\$11.11	\$111.10	\$10.00	\$100.00
	4	/		ı	1	1 '	1	'	Į.			<u>/</u>	1
TOTALS - SAWLOGS	80 MBF	//	\$17,000	ı	\$18,000.00	1	\$26,010.00	<u> </u>	\$24,750.00		\$29,632.60		\$20,300.00
					1	1		,					
TOTALS - PULPWOOD	910 Cords		\$22,600		\$22,600.00	<b></b> '	\$29,840.00	'	\$34,320.00		\$31,494.10		\$31,150.00
TOTAL VALUE - ESTIMATED			\$39,600	ı	\$40,600.00	1	\$55,850.00	'	\$59,070.00		\$61,126.70	'	\$51,450.00
									•	succes	sful bidder		

#### VIXEN

						1		2		3
			MINI	MINIMUM		Corullo		Sappi		rewood
SPECIES & PRODUCT	ESTIMAT	ED VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
			RATE	VALUE	RATE	VALUE	RATE	VALUE	RATE	VALUE
Sugar Maple - Sawlogs	5	MBF	\$250	\$1,250	\$305.00	\$1,525.00	\$250.00	\$1,250.00	\$260.00	\$1,300.00
Mixed Hardwood - Sawlogs	5	MBF	\$150	\$750	\$225.00	\$1,125.00	\$150.00	\$750.00	\$160.00	\$800.00
									·	·
Mixed Hardwood - Pulpwood	1,535	Cords	\$25	\$38,375	\$41.00	\$62,935.00	\$28.00	\$42,980.00	\$28.00	\$42,980.00
Aspen - Woodsrun	50	Cords	\$20	\$1,000	\$38.00	\$1,900.00	\$25.00	\$1,250.00	\$22.00	\$1,100.00
Mixed Softwood - Woodsrun	20	Cords	\$10	\$200	\$18.00	\$360.00	\$10.00	\$200.00	\$10.00	\$200.00
TOTALS - SAWLOGS	10	MBF		\$2,000		\$2,650.00		\$2,000.00		\$2,100.00
TOTALS - PULPWOOD	1,605	Cords		\$39,575		\$65,195.00		\$44,430.00		\$44,280.00
TOTAL VALUE - ESTIMATED				\$41,575		\$67,845.00		\$46,430.00		\$46,380.00
					succes	sful hidder				



## **Comparative Bid Statement Bid Opening September 13, 2016**

#### **KINGSTON**

MINIMUM Sappi Fine Paper Mel Flannery Jr. **SPECIES & PRODUCT ESTIMATED VOLUME UNIT BID** BID **UNIT BID TOTAL BID UNIT BID TOTAL BID** RATE VALUE RATE **VALUE** RATE VALUE Sugar Maple - Sawlogs 5 MBF \$250 \$1,250 \$300.00 \$1,500.00 \$350.00 \$1,750.00 \$2,700.00 Mixed Hardwood - Sawlogs 12 MBF \$150 \$1,800 \$150.00 \$1,800.00 \$225.00 Mixed Hardwood - Pulpwood 2,265 \$25 \$56,625 \$28.50 \$64,552.50 \$30.50 \$69,082.50 Cords Aspen - Woodsrun 175 Cords \$25 \$4,375 \$25.00 \$4,375.00 \$28.00 \$4,900.00 Mixed Softwood - Woodsrun 150 Cords \$10 \$1,500 \$10.00 \$1,500.00 \$10.00 \$1,500.00 17 \$4,450.00 **TOTALS - SAWLOGS** MBF \$3,050 \$3,300.00 \$75,482.50 2,590 \$62,500 \$70,427.50 TOTALS - PULPWOOD Cords **TOTAL VALUE - ESTIMATED** \$65,550 \$73,727.50 \$79,932.50 successful bidder

#### **BEAVER CREEK**

						1
			MINI	MUM	Sappi F	ine Paper
SPECIES & PRODUCT	ESTIMAT	ED VOLUME	UNIT BID	BID	UNIT BID	TOTAL BID
			RATE	VALUE	RATE	VALUE
Sugar Maple - Sawlogs	4	MBF	\$250	\$1,000	\$250.00	\$1,000.00
Mixed Hardwood - Sawlogs	2	MBF	\$150	\$300	\$150.00	\$300.00
Mixed Hardwood - Pulpwood	200	Cords	\$25	\$5,000	\$25.00	\$5,000.00
TOTALS - SAWLOGS	6	MBF		\$1,300		\$1,300.00
TOTALS - PULPWOOD	200	Cords		\$5,000		\$5,000.00
		22.00		<b>‡</b> 2, <b>000</b>		<del>+ 1,1<b>70.00</b></del>
TOTAL VALUE - ESTIMATED				\$6,300		\$6,300.00
					success	ful bidder